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5 b

( the values of p,q, r are not relevant.
the statement is a tautology)
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d

8!
npr(10,9)
npr(5,3)
6/
ncr(l3,5)
ncr(10,6)
ncr(26,2)*ncr(26,3)

ncr(40,5)

ncr(l3,5)

2A4-]
2A6-1-6
ncr(52,5)-ncr(26,5)
2/12

6/8
24/82

3:3

0.96 to 0.04

4/6

32/52

6/10

(13/52)%(13/52)
(26/52)%25/51)

(3/8)*(2/7) or ncr(3,2)/ncr(8,2)
ncr(4,2)/ncr(52,2)
ncr(6,3)/ncr(10,3)

49.
50.
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52.
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54.
55.
56.
57.
58.
59.
60.

61].

62.

63.

64.

65.

66.

67.

68.

69.
70.

a binomial calculator 0.0197277
d 0.0763815

b 45/35

a $500.00/3000-%1.00

a (1*1400+3*800+9%400)/10000
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¢ Standard Deviation for a sample.
on-1 =1.0937

d Martin: (41-39)/2.4= 0.83333333
Jeff: (30-26)/1.9= 2.10526316

d

a

c

b Quartiles. Q0= 30, Q] = 54,
Q2=75, Q3= 89, Q4=107

b z=(xI-u)/o=-1.3333
Pz < -1.3333) = 0.09121656

b z=(xl-u)/ o=0.77778
P0.7778 < z) =0.21834359

d zl =(x1 -u)/o=-0.6
z2 =(x2-u)/o=0.4
P(-0.6 <z < 0.4) =0.38116875
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